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20226 B E &ARAHBIMHBIZTA

B{ER : 2022406 H26H AN : 624 (BfE:508 ZfE:124)
BREAE N T 148 BEIERF : *v DRV FUTRIAT
STHEIR « #IFREE L HDCP2IR :
BELA—IL
0T HRBBBEE®D@®® INDQRB@B®DE®® DRB@EEDE®O
PAR 4354534414 PAR 445434354 PAR
IE {iz B E A ouT IN GROSS | HDCP NET %8
72 BAsE =t 43 40 83 18.0 65.0
EEHER BF 47| 44 91 23.0 68.0
f|dLE FEER 43 41 84 16.0 68.0
Mi|Bg ER 43 44 87 19.0 68.0
SGI|fEEK A 47| 50 97 29.0 68.0
6hI[ELL E 500 54 104 36.0 68.0
TEI|feH AR E 55 48 103 34.0 69.0
8fir|BEIL =& 47| 45 92 23.0 69.0
ORI H EXF 43 43 86 16.0 70.0
10622 HE &7 44| 48 92 22.0 70.0
14z|=F E= 50 42 92 21.0 71.0
1262)/Mf8 FRER 51| 43 94 23.0 71.0
13L)i HE 53 49 102 31.0 71.0
1465 KE  E45 50 46 96 25.0 71.0
1567|lUEA &E& 47| 44 91 20.0 71.0
166|fRE F— 43 47 90 19.0 71.0
1746|188 #F 45 50 95 24.0 71.0
18 EH &R 49 45 94 22.0 72.0
19Z[BHEF & 47| 43 90 18.0 72.0
2045 |FRFE TEE 46| 47 93 20.0 73.0
16|EA #&F 47| 48 95 22.0 73.0
220 | =8 K& 48] 42 90 16.0 74.0
23GL|=0F XK 54/ 48 102 28.0 74.0
24415t AE 45 45 90 16.0 74.0
5GI[IEAR  1E1E 50| 51 101 27.0 74.0
26454 E ERE 44| 48 92 18.0 74.0
2164 |BR  1IESL 49 42 91 16.0 75.0
81| [EiE 52| 50 102 27.0 75.0
29I (FE FEL# 47| 46 93 18.0 75.0
304r|IUAN HIIE 46| 47 93 18.0 75.0
SI|aTE #F 41| 50 91 16.0 75.0
26IjEAR FEX 42| 53 95 19.0 76.0
Mz|FHFEIT BF 54/ 47 101 24.0 77.0
AL\ FH  E 50 43 93 16.0 77.0
35GIlFEm BT 54/ 51 105 28.0 77.0
6HI[ENO  f2 48 45 93 16.0 77.0
ST KPP HEF 48| 45 93 16.0 77.0
38GI|HE ik 47| 65 112 32.0 80.0
39GI|NEE E— 47| 50 97 16.0 81.0
A0fI|NE FF 56| 46 102 19.0 83.0
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STHEIR « #IFREE L HDCP&IIR
BELA—IL
0T HRBBBEE®D@®® INDQRB@B®DE®® DRB@EEDE®O
PAR 4354534414 PAR 445434354 PAR

IE {iz B E A ouT IN GROSS | HDCP NET %8
MNE|EF = 51 50 101 17.0 84.0
A2¢i|hnfE HKE 57| 62 119 35.0 84.0
4361|= M Sk 47| 55 102 17.0 85.0
MEIIER B 57| 55 112 26.0 86.0
ASGrjiEE =B 55 48 103 16.0 87.0
4661 EEF AR 55( 57 112 25.0 87.0
4161\ FFR BERK 49| 55 104 17.0 87.0
81|12 E IE= 62| 44 106 16.0 90.0
AGI[R  FEAR 57| 52 109 19.0 90.0
S50fr)=fE 18 61| 47 108 16.0 92.0
S1L|[LH 1Eif 54/ 61 115 18.0 97.0
D2 KA X 58 56 114 1.0, 113.0
BREEMK FIX 50 47 97 32.0 65.0
BRE(XRI N 48/ 48 96 29.0 67.0
BEREIRN &t 45 47 92 23.0 69.0
BEREIZIL SFE 48 46 94 22.0 72.0
BIREIKE FH 54/ 49 103 21.0 82.0
BEREHT &L 53 50 103 18.0 85.0
BREDH B 53 54 107 21.0 86.0
NR|GER &— 0 0.0 0.0
NR|EHH (% 0 0.0 0.0
NR[ZE#FHF —HA 0 0.0 0.0
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